Math 1030Q ‘ Elementary Discrete Mathematics Quiz 2

Directions: Read and answer the following questions. Work carefully and be sure to }
show all steps to receive full credit. Good luck! (Round your caiculations to ¢ decimal places) N
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1. (5 points)Lowndes’ Method:In 1790 Delaware was composed of three counties, as it is today. The
populations of these counties based on the 1790 census are listed below. Use Lowndes’ method to
apportion a hypothetical state legislature of 76 seats among these counties.

Natural Initial Relative Final
County Population Quota  Allocation Fractional Part Allocation
Kent 18,920 DY 3329 < RS 25
New Castle 19,686 2,28 vy 1 5
Sussex 20,488 &0, & Sip
Total 59,094 , N

2. (bpoints) Now repeat the above example using Hamilton’s method.

Natural Initial Final
County Population Quota  Allocation Allocation
Kent - 18,920 =%
New Castle 19,686 5
Sussex 20,488 A7
Total 59,004 o
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